Grade 4
Math Review

Name







Name
708 - B9 =
Color the

quadrilaterals.

Write the number
word as a number.
o)

- one hundred

=8 thousand eighty-
seven

ook at the base
ten blocks. Write

the number shown.
O AR

T
SiSiHIEIS
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What time is it?

Sarah and Felipe
were playing video
games. Sarah
scored 21456

points, and Felipe

scored 9,087 points.

About how many
points did Sarah

and Felipe score
altogether?

Round each
number to the
nearest hundred.

324

558

256

Start at 1. Create
a pattern that
multiplies each
number by 2. Stop
when you have

5 numbers.

2123 + 3456 =

Write the missing
numbers to
complete the
pattern.

2,4, 6,8

Write the number
in standard form.

60,000 + 5,000 +
300 + 3

On Monday, Amy
read 24 pages of
her book. Tuesday
night she read

41 pages, and
Wednesday night

she read 32 pages.

How many pages
did Amy read

altogether?

Beth placed

91 books on a shelf.
Twenty-eight of
the books were
nonfiction, 13 of the
books were poetry
books, and the rest
were fiction books.
How many books
were fiction?

List the factors of Y.

Is this number
prime or
composite?

How many more
students voted
for baseball and
basketball than
football?

Favorite Sports

50
Us
HO
35
30
25
20
15
10
o

0] Basebal  Soccer  Footbal  Basketbol

20+ 2=








Naome

l;

Week #1 Assessment

19,007 - 12456 =

Write the number word in expanded
form.

fifty-nine thousand six

2,000 + 200 =

Start at 3. Create a pattern that multiplies
each number by 3. Stop when you have
5 numbers.

Color the triangles.

8.

10.

. 33,876 - 29,008 =

A fund-raiser for The Children’s Museum
raised $44,609. The museum spent $9,081
on food and beverages. About how
much money did the museum make after
paying for food and beverages?

List the factors of 6.

Is this number prime or composite?

Round each number to the nearest
hundred.

218

121

252

Write the missing numbers to complete
the pattern.

10, 12, 14,

4.0A.3, H.OA 4, H.OA.5, 4.NBT.1, 4.NBT.2, 4.NBT.3, 4.NBT.4

Week 1 (p. 2)











Name

Write the number
in standard form.

600,000 + 30,000 +
2,000 + 700 + 70

The zookeeper
takes 2 bags

of peanuts to

an elephant.

Each bag has 12
peanuts. How many
peanuts does the
zookeeper give fo
the elephant?

49,007 - 34,569 =

85 - 31 =
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What units would

you use to measure

the length of a
wall?

A. inches
B. centimeters
C. yards

HOO + 40 =

What time is it?

Start at 2. Create
a pattern that
multiplies each
number by 2 and
then adds 1. Stop
when you have 5
numbers.

Dawn has to pay
$10,990 for her
college dorm room
and tuition each
year. About how
much money does
Dawn spend the
first 2 years of
college?

Q1+ 28 +13 =

H5,678 + 21456 =

What is the name
of the figure
shown?

Complete the table.

List the factors of 7.

Is this number
prime or composite?

What is the value
of the following
coins?

2 quarters, 4 dimes,
and 6 pennies

Round 54,878 to
the nearest ten
thousand.





Name Week #2 Assessment

1. Round 43,766 to the nearest thousand. 2. Write the number in standard form.

four hundred thousand two

3. 30,000 =+ 3,000 = 4. List the factors of 10.

Is this number prime or composite?

5. Start at 5. Create a pattern that adds 6. $1,358 + $7,649 =
3 to each number. Stop when you have
5 numbers.
/. 17456 - 7,656 = 8. Complete the table.

9. Austin has to be at school by the time 10. What is the name of the figure shown?
shown on the clock. What time does
Austin have to be at school?

4.OA L, 4.OA.5, 4.NBT.1, 4.NBT.2, 4.NBT.3, 4.NBT.H

Week 2 (p. 2)









Name

Write <, >, or = to
make the statement
true.

17,987 O 17,877

Round each
number to the
nearest ten. Then,

add.

34 + 81is about

1102 + 6,206 =

Addison is reading
a book that is 584
pages long. She
read 171 pages on
Saturday and 207
pages on Sunday.
She finished the
book on Monday.
How many pages
did she read on

Monday?
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20 x5 =

20x 6 =

20x 7 =

List the factors
of 12.

Is this number
prime or composite?

3x5=15

Write a related
multiplication fact.

500,000 + 50,000 =

Write the number

word as a number.

six hundred
thousand eight

584 + 381 =

Round 16,311 to the
nearest thousand.

2%x9-=

q:-:2=

8}!2:

Write the
multiplication
sentence shown by
the picture.

Start at 125. Create
a pattern that
subtracts 6 from
each number. Stop
when you have

5 numbers.

U4 +15 =

82 -30 =

Write <, >, or = to
make the statement
true.

oL

Week 3 (p. 1)







Naome

Week #3 Assessment

1. Write <, >, or = to make the statement

frue.
973 O Q3/

3. Write the number in standard form.

50,000 + 1,000 + 200 + 60 + 3

5. 60+ 6=

/. List the factors of Q.

Is this number prime or composite?

9. Write the multiplication sentence shown
by the picture.

2. 1,508 + 2428 =

4. Round U5,656 to the nearest hundred.

6. Start at 500. Create a pattern that
subtracts 4 from each number. Stop when
you have 5 numbers.

8. 3x2=

2x8 =

le1=

10. Clay took 73 photos of animals at the zoo.

He took 14 photos of monkeys, 21 photos
of tigers, and 13 photos of polar bears.
How many photos of other animals did
Clay take?

H.OAM, H.OA.5, 4.NBT.1, 4.NBT.2, 4.NBT.3, 4.NBT.4, 4.NBT.5

Week 3 (p. 2)









Name

Write the number 4 x = 32

in standard form.

one million four x Q=36
nundred ninety-six
thousand seven

hundred seventy-

TWO

2KL|.=

Round 183,982 to
the nearest ten

Choose the related
addition sentence

for 6 x 3. thousand.
A.6+6
B, 3F3 3t 3+8 Fa
(. G%8 %5
D:3+3+3
1,747 + 5,844 = What was the
weather mostly like
last week?
7
0 g
o Uy
HER
E |
z O Sunny Windy Rainy
Round each A tree branch has

number to the

nearest ten. Then,
add.

5 buds. Each day, 2
more buds sprout.
How many buds
are on the tree
branch after the
first 5 days? (Hint:
Make a T-chart.)

678 + 179 is about
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Write <, >, or = tfo
make the statement
frue.

37,000 O 37,607

Jessica earned $20
for doing chores.
She went to the
movies and bought
a ticket for $9 and
popcorn for $7.
How much money

does Jessica have
left?

2,535 - 2172 =

30x2 =
30 x 3 =

30 x U =

Gavin is watching
3 spiders crawling
on the sidewalk.
The fuzzy spider
crawls 3 times as
far as the brown
spider. The brown
spider crawls 4
feet. How far does
the fuzzy spider
crawl?

700 + 70 =

5x3 =15

Write a related
multiplication fact.

List the factors of 11.

Is this number
prime or composite?

Week 4 (p. 1)







Naome

1.

Week #4 Assessment

Write the number in standard form. 2

/ ten thousands + 5 thousands +
3 hundreds + 1 ten + 7 ones

List the factors of 28. 4.

Is this number prime or composite?

Round 81,294 to the nearest ten. b.
1,230 - 954 = 8.
Hunter earns $3 for each room he cleans  10.

in his house. If Hunter cleans 2 rooms and
buys a bag of candy for $2, how much
money does he have left?

The tree has 3 acorns under it. Each day,
3 more fall under the tree. How many

acorns are under the tree after the first
5 days? (Hint: Make a T-chart.)

10,898 + 14,373 =

8,000 + 800 =

Which multiplication fact matches the
addition sentence 8 + 8 + 8 + 8?

A. 2xYy

B. 3x38

C. 4Ux8

D. 8x3

2 X =10
x5 =25

Ux2-=

H.OAM, H.OA.5, 4.NBT.1, 4.NBT.2, 4.NBT.3, 4.NBT.4, 4.NBT.5

Week 4 (p. 2)









Name

o

]

[
(A
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66,859 - 34H37 =

Write the related
multiplication facts.

32 + Y

Write the number
in standard form.

700,000 + 10,000 +
3,000 + 900 + 20 + 3

Write <, >, or = to
make the statement
frue.

O

Determine the
18th shape in the

pattern.

/\

32+8=

18 + 3 =

Round 567433
to the nearest

hundred thousand.

43,273 + 10,586 =

Irene found 900,000 = 90,000 =
11 starfish. Each

starfish had 5 arms.

How many arms did

the starfish have

in all?

Write <, >, or = to Hbx2x1=
make the statement

frue.

2414 O 2419

List the factors
of Uy,

Divide this square
into eighths. Label
each eighth with
an appropriate
fraction.

Is this number
prime or composite?

Week 5 (p. 1)







Name Week #5 Assessment

1. List the factors of 35. 2. Determine the 20th shape in the pattern.

J

[ .

.

Is this number prime or composite? ~)
s this number prime or composite ;\}_V /\

./"‘

J

3. Write the number in standard form. 4. Round 87,658 to the nearest thousand.

one hundred forty thousand six hundred
eighty-seven.

o0. 2,606+ 7,025 = 6. 9,379 - 4,312 =

/. 60,000 + 6,000 = 8. Divide the rectangle into eighths and shade

2
the pieces to show the fraction 38

Q9. Write <, >, or = to make the statement 10. 5x 9 =
true.

35+5=

@~ | -

4.OA L, 4.OA.5, 4.NBT.1, 4.NBT.2, 4.NBT.3, 4.NBT.H

Week 5 (p. 2)











Name

Determine the
17th shape in the

pattern.

OA

Write <, >, or = to
make the statement
frue.

o4.,657 O 54,989

$7,678 + $5444 =

Are the fractions

1 3 .
5 and g equivalent

fractions?

Quinn runs 3 miles

3 times every week.

How many miles
does Quinn run in
b weeks?

100 + 10 =

Fill in the missing
numbers to
complete the
pattern.

89, 85, 81,

Name two fractions
on the number line
that are equivalent
fractions.
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00| W=
ol =1+ —
oo | o1
==

| ~-
e

Write the number
in expanded form.

three hundred
thirty-nine
thousand six

40 x 1 =

40 x 9 =

60 x 1 =

Round 7,667 to the
nearest hundred.

Oliver earns $4 o
day for 7 days for
doing chores. Each
day, his mom takes
out $2 and puts

It info a savings
account for Oliver.
How much money
does Oliver get to
keep after 7 days?

Round each
number to the

nearest ten. Then,
add.

212 + 87 is about

List the factors
of 19.

Is this number
prime or composite?

Divide the
rectangle into
sixths. Label
each sixth with
an appropriate
fraction.

$8,987 - $8,765 =

Week 6 (p. 1)







Name

1. 7H95 - 6,816 = 2.
3, 30+ 3= 1)
5. Determine the 28th shape in the pattern. = 6.

Z

Week #6 Assessment

@ )
L) £
L .

U72,936 + 453,250 =

1 1
Are the fractions 5 and g equivalent

fractions?

10.

Write the number in standard form.

4 ten thousands, 1 thousand, 9 hundreds,
8 tens, and 4 ones

Round 713,923 to the nearest ten.

List the factors of 30.

Is this number prime or composite?

.15 +5=

56 + 8 =

q3{8=

2 8
Are the fractions 5 and g equivalent

fractions?

0o | Lo

J
2
8

4.OA MU, 4.OA.5, U.NBT.1, 4.NBT.2, 4.NBT.3, 4.NBT.Y, Y4.NF.1

o| E=E1+N]|—

oo | o1
oo| o~
oo~ -

Week 6 (p. 2)









Name

Write the number @ Are these fractions
in standard form.  equivalent fractions?

900,000 + 4,000 +
500 + 3

A square has one | 5,000 + 500 =
side that measures
6 inches. What is

the perimeter of
the square?

16,545 + 24,345 = H93 + 327 =
Five spiders are A can has
building webs in the ' 50 marbles in
barn. How many it. Every houir,
legs are there / marbles are
in all? taken out. After

4 hours, how many
marbles are left in
the can?
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7,067 - 4,002 = Write the fraction.
Mia is excited Round 34,786 to
to get to the the nearest ten

amusement park. | thousand.
Her family reaches

the amusement

park at 8:00. They

wait in line to get

in for 50 minutes.

What time do they

go in?

List the factors Fill in the missing

of 39. numbers to
complete the

Is this number pattern.

prime or composite? | 615, 605, 595,

AT e, | Write <, >, or = 1o
SLMNNNIS make the statement
T A
e+« v« o sl frue.

How many inches
long is the feather? 121453 O 112,678

Week 7 (p. 1)







Name Week #7 Assessment

1. Write <, >, or = to make the statement 2. 234,543 + 344456 =

true.
786454 O /86454

3. On Monday, 25 pencils are in a basket. 4. 90,000 + 9,000 =
If 3 pencils are taken out of the basket
each day, how many pencils are left in
the basket on Friday?

5. List the factors of 17. 6. Round 432115 to the nearest hundred

thousand.
Is this number prime or composite?

/. 27,791 -13,782 = 8. Write the number in expanded form.

thirty-eight thousand five hundred
fwenty-five

N A 10. The basketball game began at 7:05. The
N - game took 2 hours and 45 minutes fo
B i play. What time was the basketball game
over?

1 2 k] 4 5 £ T [ 9 1) n i

How many inches long is the toothbrush?

H.OAY, 4. OA.5, U.NBT.1, 4.NBT.2, 4.NBT.3, U.NBT.Y4 CD-104593 ¢ © Carson-Dellosa

Week 7 (p. 2)








Name

List the factors
of 14.

Is this number
prime or composite?

Fill in the missing
numbers to
complete the
pattern.

145, 148, 151,

200,000 = 20,000 =

Tomorrow,

567 people will
want tickets to

a concert. Only
W17 tickets are
available. How
many people will
not be able to
get tickets?
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Write <, >, or =
to make each
statement true.

Write <, >, or = to
make the statement
true.

5,874 O 5,784

How many more
trees were planted
in September than
November?

Trees Planted

L4sd

| PPPPPPES

-

1959

% =Utrees
36,878 + 20,557 =

Start at 5. Create
a pattern that
multiplies each
number by 3 and
subtracts 2. Stop
when you have

5 numbers.

Color the shapes

that have Y4 vertices.

/ LY I

AN

Write the number
in expanded form.

forty-one thousand

nine hundred
eighty-four

Write the number
in word form.

212

Nora places U
pictures on each
of the 5 shelves in

her bedroom. How [
many pictures does
Nora place on the
shelves in all?

Round 95,175 to the
nearest thousand.

B5+37+10 =

77,528 - 68431 =

Week 8 (p. 1)







Week #8 Assessment

Name

1. 214,965 - 104426 = 2. 452,816 + 240,910 =

3. Round 11,905 to the nearest ten. 4. Write the number in standard form.
60,000 + 6,000 + 400 +10 + 8

o0. 900 + 90 = 6. Start at 4. Create a pattern that multiplies
each number by 2 and subtracts 1. Stop
when you have 5 numbers.

/. List the factors of 24. 8. Color the shapes that have U sides.

Is this number prime or composite?

9. How many more students have dogs and  10. Fill in the missing numbers to complete the
cats than fish and birds? pattern.

Students’ Pets 203, 206. 200',
i e e e

P P PP w =3 students

DADN

H.OAY, 4. OA.5, U.NBT.1, 4.NBT.2, 4.NBT.3, U.NBT.Y4 CD-104593  © Carson-Dellosa

Week 8 (p. 2)








Name
543,786 + 89,009 =
847 - 358 =

Write <, >, or = to
make the statement
true.

87,877 O 877,505

Write a related
multiplication fact
for the following
division sentence.

54+ 6 =9

© Carson-Dellosa ¢ CD-104593

18 + = 2

List the factors
of 36.

Is this number
prime or composite?

70 x5 =

/0 x3 =

50 x q =

400,000 + 40,000 =

/78,908 - 40,000 =

Mr. Garcia buys
U8 flowers. He puts
6 flowers in each
vase. If he sells
each vase for $2,
how much money
does he earn?

Write the number
word as a number.

ninety-five
thousand one
hundred seventy-
five

Show how to solve
this problem.

5)(5:('-]-:

Round to the
nearest ten. Then,
subtract.

453 - 110 is about

Determine the
11th shape in the
pattern.

f.'"l:ll."'-. ..-'J. h".l J - |
\ \ ]
A | ) ' |
! ]
' | ",

£

Leo has 24 golf
clubs. He has 3
golf bags. Each
bag contains the
same number of
clubs. How many
golf clubs are in
each bag?

Last year, Langdon
School had $127,657
available for
scholarships. This
year, the school
has $141,509
available. About how
much more money
does the school
have for scholarships
this year?

Week 9 (p. 1)








Naome

l;

Week #9 Assessment

Ella earned $435 in June and $543 in July. = 2.
About how much money in all did Ella
earn in June and July?

/0+7= 4.

Write the number in expanded form. o}

2,124

14,543 - 13,999 = 8.
x 6 =18 10.

/ X = 42

8x2=

4.OA L, 4.OA.5, 4.NBT.1, 4.NBT.2, 4.NBT.3, 4.NBT.H

Determine the 25th shape in the pattern.

Pl o o T RN

List the factors of 23.

Is this number prime or composite?

Write <, >, or = to make the statement

frue.
3,864 O 3,864

506,291 + 112,867 =

Kaylen has 15 golf balls to put into
buckets. She puts 5 golf balls into
each bucket. How many buckets did
Kaylen use?

CD-104593 = © Carson-Dellosa

Week 9 (p. 2)







K Week #10

Round 921444 Pedro parks his car | 493422 + 292434 = | An average-sized
to the nearest at 4:03. He wants to dog weighs about
hundred thousand. | visit the bookstore,
so he puts enough A. 15 grams.
money in the B. 50 grams.
parking meter for C. 5000 grams.
one hour. What D. 15,000 grames.
time should he be
back at his car?
L76 + 498 = On the day she Ux2= Write the number
was born, a baby in standard form.
leopard had 9
spots. Each day, 6+3= 80,000 + 7,000 +
4 more spots HOO +70 + 8
appeared. After
5 days, how many 4=+7=
spots did the baby
leopard have?
(Hint: Make a
T-chart.)
87,223 - 8,224 = Draw square units List the factors What is the
to show the area of 20. perimeter of the
of the rectangle. shape?
Is this number
prime or composite? e O
u
4cm 4 cm
7 P 2cm

Write <, >, or =to  Write <, >, or = to Are these fractions 10,000 + 1,000 =
make the statement make the statement | equivalent
true. true. fractions? Circle

yes or no.

% % 502,42 O 502442 o
- Solvs

yes no

© Carson-Dellosa ¢ CD-104593

Week 10 (p. 1)







Naome

1.

Week #10 Assessment

800,000 + 80,000 =

87,602 - 59,8499 =

Brian has 4O stickers. He shares 5 stickers
with his friends every day. After 5 days,
how many stickers will Brian have left?
(Hint: Make a T-chart.)

Write the number in expanded form.

259,341

Draw square units to show the area of
the rectangle.

4.OA L, 4.OA.5, 4.NBT.1, 4.NBT.2, 4.NBT.3, 4.NBT.H

10.

List the factors of 33.

Is this number prime or composite?

14,543 + 41,208 =

Round 16,567 to the nearest thousand.

. Write <, >, or = to make the statement

frue.

307,199 O 370,199

A nail weighs about

A. 1gram.

B. 10 grams.
C. 100 grames.
D. 1,000 grams.

CD-104593 = © Carson-Dellosa

Week 10 (p. 2)







Name

Reid is 3 years old.
His sister is 4 times
older. How old is
Reid’s sister?

Write <, >, or = to

make the statement

true.

642,199 O 624,199

Paige saw

142 tourists in

July, August, and
September. She
saw 32 fourists in
July and 89 tourists
in August. How
many fourists

did Paige see in
September?

97,808 - 31,876 =

© Carson-Dellosa ¢ CD-104593

Write the equation.

Round 26,127 to the
nearest hundred.

70 x3 =

List the factors
of 79.

Is this number
prime or composite?

Find the areaq.

10m

/m

Chelsea’s family
traveled 300 miles
by car each day
during their family
vacation. How
many miles did
Chelsea’s family
travel over alll

6 days?

78,644 + 43,987 =

21+ 3 =

24 + 6 =

50 +10 =

Write the number

word as a number.

thirty-seven
thousand eight
nundred ninety

Start at 10. Create
a pattern that
multiplies each
number by 10. Stop
when you have

5 numbers.

Find the perimeter.

lem

2 cm

4,000 + HOO =

4O x 2 =

Week 11 (p. 1)







Naome

1.

Week #11 Assessment

Rachel filled all 15 shelves in her room 2

with books. She placed 9 books on each
shelf. How many books did she place on
all 15 shelves?

Round 639,121 to the nearest ten 4,

thousand.

Start at 5. Create a pattern that multiplies = 6.

each number by 5. Stop when you have
5 numbers.

72 +9= 8.
77 + 11 =
4y +12 =
Find the area. 10.

Tm

20m

80 x 4 =

Find the perimeter.

1ft.

35

Write the equation.

Tia has 7 hair bows. Her sister has 6 times
as many as Tia. How many hair bows does
Tia's sister have?

List the factors of 84.

Is this number prime or composite?

Mario took 57 photos of landmarks in
the city he visited. He took 12 photos of
buildings, 16 photos of bridges, and 2
photos of statues. The rest were photos
of parks. How many photos of parks did
Mario take?

4.OAl 4 OA.2, 4 OA.3, 4 OAM, 4.OA.5, H.NBT.3, H.NBT.5, H.MD.3 HehrX LT orer T e e

Week 11 (p. 2)







Name

A swimming pool
has a perimeter of
/2 feet. The short
sides measure

16 feet. What is

the length of the
longer sides of the
pool?

38 x7 =

A total of

100 fourth graders
are being divided
equally between
5 fourth-grade
teachers. How
many students will
be in each class?

66 x 8 =

© Carson-Dellosa ¢ CD-104593

Write the number
in standard form.

800,000 + 20,000
+ 7,000 + 600 + 70
+7

Sixty-four students
voted for Morgan.
Two times as many
students voted for
Whitney. How many
students voted
altogether?

13856451313 =

56 + 8 =

M=+1-=

16+ 8 =

Write the equation. | 70,000 + 7,000 =

Jay mows 1 lawn
every day Monday
through Saturday.
He is paid $25 for
each lawn. How
much money does
Jay earn mowing
lawns?

List the factors 82 x5 =

of 60.

Is this number
prime or composite?

The area of @ /73461 - 3,861 =
window measures

336 square inches.

If the window is

16 inches wide, how

long is the window?

Round 438,692
to the nearest
thousand.

W x 6 =

Week 12 (p. 1)







Name Week #12 Assessment

. 97/ x4 = 2. Twenty-two people voted for fish as their
favorite pet. Three times as many people
voted for dogs. How many people voted
in all?

3. Write the equation. 4, 36 +12 =

Macon eats 33 animal crackers as a

snack every day after school. How many 16 +8 =
animal crackers does she eat during a

5-day school week?

o4 + 8 =

5. 6/ x9-= 6. A rectangular blanket’s perimeter is
210 inches. If the long sides of the blanket
measure 60 inches, what is the length of
the shorter sides of the blanket?

/. The door to the clubhouse has an area 8. Write the number in expanded form.
of 1,792 square centimeters. If the length
of the door is 56 centimeters, how wide is 87478
the door?

9. 600 + 60 = 10. The town hall’s bells ring 8 times every

hour. How many times do the bells ring in
a 24-hour period?

4.OAl HOA.2, 4OA.3, U.NBT.|, 4.NBT.2, 4.NBT.5, U.NBT.6, . MD.3 X ILLiETYer e

Week 12 (p. 2)








Name

837 £+ 9=

Round 213,548
to the nearest
nundred.

Write the number
word as a number.

seventeen
thousand four
nundred thirty-
three

© Carson-Dellosa ¢ CD-104593

Matthew unpacked
43 boxes of
lightbulbs for

the discount
warehouse. Each
box contained

6 bulbs. How many
bulbs were in all

U3 boxes?

The perimeter of
a rectangular yard
is 204 feet. If the
width of the yard is
U5 feet, what is the
length of the yard?

183,982 + 81,294 =

Write the equation.

Melanie bought

/ packages of
greeting cards.
Each package had
9 cards. How many
greeting cards did
she get in all?

N6 x7 =

100,000 + 10,000 =

147 + 3 =

List the factors
of 59.

Is this number
prime or composite?

Pilar’s hair is

/ inches long. If
her hair grows

2 inches each
month, how long
will her hair be
after 6 months?

The area of the
rectangular roof
on a dollhouse is
/756 square inches.
The length of the
roof is 108 inches.
How many inches
wide is the roof?

7,689 - 6,726 =

Mr. Hamilton gave
out 15 coupons
per hour at the
appliance show.
After 2 days at
the show, working
4 hours total, how
many coupons did
he distribute?

Week 13 (p. 1)







Name Week #13 Assessment

1. Molly is 36 inches tall. If she grows 2. The perimeter of Raul's picture frame is
4 inches every year, how tall will she be in 108 centimeters. The length of the picture
3 years? frame is 18 centimeters. What is the width

of the picture frame?

3. 184 +2-= 4. 20,893 + 68,352 =

5. Kelly practiced her flute 30 minutes a day = 6. Write the equation.
for 9 days. How many total minutes did
she practice? Chris walked U4 miles a day for 21 days.
How many miles did he walk in all?

/. Round 743,214 to the nearest ten 8.335x5 =
thousand.

9. The area of a room in a dollhouse is 10. Lisa played her new CD for 3 hours every
1,248 square inches. The width of the day for the first 5 days she had it. How
room is 8 inches. How long is the room? many total hours did she play the CD?

How many minutes was this?

HOAL 4.0A.2, H.OA.3, H.OA.5, 4.NBT.3, L.NBTMH, 4.NBT.5, H.NBT.6, 4MD.3 e R ILLcRTo e TN
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Name

Grantsville’s
governor received
3 times as many
votes as Cary’s
governor. Cary’s
governor received
790 votes. How
many people voted
altogether?

Write the number
in standard form.

Q00,00 + 80,000 +
51005 S04

Write the equation.

During lunch,
some students eat

32 bags of pretzel
rods. If each bag

holds 9 pretzel rods,

how many total
pretzel rods do the
students eat?

Write the number
in expanded form.

76,789

© Carson-Dellosa ¢ CD-104593

Dylan plants grass
in a rectangular
space behind the
clubhouse. The
area of the space
is 70 square feet.

If the length of the
space is 14 feet,
what is the width of
the space?

774 x 6 =

Write <, >, or = 1o
make the statement
frue.

76,876 O 76,768

868 + U =

Ruby baked

5 apple pies for a
bake sale. If each
pie contained 12
apples, how many
total apples did
Ruby use?

Round 54,678 to
the nearest ten.

47 x2 =

500 + 50 =

Start at 4. Create
a pattern that
multiplies each
number by 4 and
then adds 3. Stop
when you have

S5 numbers.

286 + 8 =

67,987 - 32,998 =

A rectangular
closet has a
perimeter of

10 feet. If the
width of the closet
is 3 feet, what is
the length of the
closet?

Week 14 (p. 1)







Naome

1.

Week #14 Assessment

The area of a bathroom floor is

24 square feet. If the width of the
bathroom is 6 feet, what is the length of
the bathroom?

Six times as many people voted in the

2012 election as in the 2008 election.
If 162 people voted in 2008, how many
people voted in both elections?

Start at 2. Create a pattern that adds 2

to each number and then multiplies by 3.

Stop when you have 5 numbers.

370 + 4 =

Write the equation.

Lisa made 18 blueberry muffins. If each
muffin contained 6 blueberries, how
many total blueberries did Lisa use?

10.

639 x 9 =

A rectangular bedroom has a perimeter
of U2 feet. If the length of the bedroom is
11 feet, what is the width of the bedroom?

67,545 - 33,878 =

. Tyler made 6 batches of biscuits. He

made 24 biscuits in each batch. How
many total biscuits did Tyler make?

Round 55,678 to the nearest hundred.

HOAL 4.0A.2, H.OA.3, H.OA.5, 4.NBT.3, L.NBTMH, 4.NBT.5, H.NBT.6, 4MD.3 e R ILLcRTo e TN
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Name

5,001 x 6 =

413,206 - 78,598 =

Start at 1,000.
Create a pattern
that subtracts 8
from each number.
Stop when you
have 5 numbers.

© Carson-Dellosa ¢ CD-104593

Write the equation.

Jessi has saved $51.
If Lee has saved

5 times as much
money as Jessi,
how much money
has Lee saved?

The area of a
rectangle is 116
square meters.
If the length of
the rectangle is
4 meters, what is
the width of the
rectangle?

Round 248,739
to the nearest
hundred.

Lauren is moving
on Saturday. She
has packed 8 boxes
in each room in
her house. She

nas 5 rooms in her
house. How many
boxes has Lauren
packed in all?

8,867 x 5 =

List the factors
of 68.

Is this number
prime or composite?

774 = 6 =

375,211 - 188456 =

Write the number
word as a number.

five thousand eight
hundred ninety-two

The perimeter of

the top of a desk

is 5S4 inches. If the
length of the desk
is 15 inches, what

is the width of the
desk?

43,204 + 23,524 =

Peter attends

6 dance lessons
each week, all year
long. A year has
52 weeks. Peter
missed 5 dance
lessons while sick.
How many dance
lessons did Peter
attend during the
year?

Week 15 (p. 1)







Week #15 Assessment

Name
. U4 x8 = 2. The perimeter of the cover of a math
textbook is 34 inches. If the width of the
cover is /7 inches, what is the length of the
cover?
3. Julio is training for a marathon. He runs . Write the number word as a number.

34 miles the first week and 29 miles the
next week. During the third week, he wants
to run as many miles as he ran the first 2

three hundred forty-two thousand six
hundred eight

weeks combined. He plans to run an equal
number of miles during each of the 7 days
of the week. How many miles will Julio run
each day?

5. Write the equation. 6.192 + 12 =

Madeline spends 4 hours at the gym each
week. How much time does she spend at
the gym in an 8-week period?

/. The area of a rectangle is 336 square 8. 68,242 + 35,254 =
inches. If the width of the rectangle
is 6 inches. What is the length of the
rectangle?

9. List the factors of 67. 10. A sold-out concert is playing at Sunset
Gardens on Friday, Saturday, and Sunday
nights. A total of 779 tickets were sold

for each night of the performance. How
many fickets were sold for the 3 nights

in all?

Is this number prime or composite?

H.OAl H.0A.2, 4.OA.3, H.OAN, 4.NBT.2, 4.NBTH, 4.NBT.5, 4.NBT.6, 4.MD.3
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Name

1 x 17 =

The area of a
rectangular ice-
skating rink is 900
square yards. If
the length of the
rink is 100 yards,
what is the width of
the rink?

Start at 92. Create
a pattern that adds
13 to each number.
Stop when you
have 5 numbers.

77 x 80 =

© Carson-Dellosa ¢ CD-104593

/94,326 - 561,268 = | /1576 +5 =

Round 462145 to
the nearest ten.

Write the equation.

Lucy rides her bike
20 kilometers every
week. How many
kilometers does
Lucy ride her bike

in 7 weeks?

80 + 8 = Write the number
in word form.
50,328

The movie theater 140 = Y4 =

had 135 people in
it. If the people
split into 9 even
groups to watch
different movies,
how many people
will watch each
movie?

173,249 + 56,245 =

A total of W9
students will attend
Field Day. Mr. Wolf
needs Y4 ribbons for
each student and
H8 ribbons for the
parents who will be
helping. How many
ribbons does Mr.

Wolf need in all?

The perimeter of

a sheet of paper

is 38 centimeters.
If the width of

the paper is

8 centimeters, what
is the length of the
paper?

38 x 24 =

Week 16 (p. 1)







Naome

1.

Week #16 Assessment

87 x 80 =

The perimeter of a deck is 30 feet. If the
length of the deck is 10 feet, what is the
width of the deck?

In April, 287 people visited an amusement
park. In May, 379 people visited the same
amusement park. In June, twice as many
people visited the amusement park as
visited in April and May combined. How
many people visited the amusement park
in June?

The area of Brooke's vegetable garden
is HO square feet. If the width of the

garden is 8 feet, what is the length of the
garden?

Write the number in word form.

503,208

4.

10.

. 105 +8 =

Nadia, Jimmy, and Terrance collected 769
stickers during the school year. They want
to divide the stickers equally. They plan to
give any leftover stickers to Vanessa. How
many stickers will each person get?

324,159 - 278,634 =

. 300 + 30 =

Write the equation.

Kennedy earns $8 each time she babysits
her little sister Leslie. If Kennedy babysits
Leslie 9 times, how much money will

she earn?

H.OAL H.OA.2, 4.OA.3, U.NBT.1, 4.NBTMH, Y4.NBT.5, 4.NBT.6, Y.MD.3 He XL RTc I N
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Name

The movie theater
had 352 people

in it. If the people
split info 8 even
groups to watch
different movies,
how many people
will watch each
movie?

Write the number
in expanded form.

seven hundred
fwenty-one

thousand nine
nundred four

Rudy has 10 white
seashells, 23 pink
seashells, and

21 brown seashells.
If he divides his
seashells equally
between 3 friends,

how many seashells

will each friend
get?

Determine the
30th shape in the
pattern.

LOA

© Carson-Dellosa ¢ CD-104593

543,286 + 215,740 =

The perimeter

of a rectangle is
222 millimeters.

If the length of

the rectangle is

60 millimeters,
what is the width of
the rectangle?

Round 213,548
to the nearest
hundred thousand.

89 x 55 =

Write the equation.

During the year,
Myong travels 5,678
miles by airplane.
He travels twice as
many miles by train.
How many miles
does Myong travel
by train?

700,000 + 70,000 =

The area of a
rectangle is 1,035
square centimeters.
If the length of

the rectangle is

3 centimeters, what
is the width of the
rectangle?

List the factors
of 75.

Is this number
prime or composite?

Jacob and Dustin
collected 245 cans
for the school can
drive. They gave
55 cans to Dustin’s
little sister for her
class to get credit.
How many cans
does this leave for
the boys’ class?

1,002 + 2 =

Write <, >, or = to
make the statement
true.

94,306 O 4,360

2002 x4 =

Week 17 (p. 1)







Name Week #17 Assessment

. 4012+2-= 2. The area of a rectangle is 6,384 square
yards. If the width of the rectangle
is 7 yards, what is the length of the
rectangle?

3. The movie theater donated 648 tickets to = Y. 35 x 96 =
9 schools. If the movie theater donated
the same number of tickets to each
school, how many tickets did each school
receive?

5. 49,320 + 36,249 = 6. Round 743,214 to the nearest ten
thousand.

/. A blue whale traveled 495 feet the first 8. 6,567 x 3 =
time it was sighted. The second time it
was sighted, the blue whale had traveled
6 times as far as the first time. How far
did the blue whale travel altogether?

9. The perimeter of a rectangle is 154 feet.  10. Write the equation.

The length of the rectangle is 55 feet.

What is the width of the rectangle? Mrs. Chung has 33 students in her fourth-
grade class. Her students are making
collages on Friday, so she brings in 5
magazines for each student. How many
magazines does Mrs. Chung bring to
class?

4.OA.l, 4.0A.2, 4.OA.3, 4.NBT.3, 4.NBTMH, 4.NBT.5, 4.NBT.6, U.MD.3 EehrXWILLcRTc R .
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Name

96 x 22 =

Write the equation.

Jack saw 4 times
as many footballs
as soccer balls in
the store. Jack saw
234 soccer balls.

How many footballs
did Jack see?

50 + 5 =

© Carson-Dellosa ¢ CD-104593

Write the number
word as a number.

eight hundred
twenty thousand
‘ive hundred
iffeen

The area of

a rectangle is

228 square feet. If
the length of the
rectangle is 12 feet,
what is the width of
the rectangle?

624,193 + 353,126 =

Liza works 7 hours
a day, 7 days a
week. How many
hours does Liza
work in 6 weeks?

2123 x4 =

Write <, >, or = to
make the statement
tfrue.

62,381 O 62,831

224 + 5 =

Start at 12. Create
a pattern that
multiplies each
number by 4. Stop
when you have

5 numbers.

Round 247,596
to the nearest
thousand.

The perimeter of a
rectangle is 62 feet.
If the width of the
rectangle is 19 feet,
what is the length
of the rectangle?

954,328 - 864,597 =

The reptile house
at the zoo has
245 reptiles. Each
habitat holds

5 reptiles. How
many habitats are
there?

Week 18 (p. 1)








Name Week #18 Assessment

1. Riley’s class takes a field trip to a museum. ' 2. 768 + 4 =
Riley sees 116 exhibits total. Each room
has 4 exhibits in it. How many rooms does
Riley go through?

3. Write the number word as a number. 4. Noah rides bikes 15 miles a day, 5 days a
week. How many miles does Noah bike in
forty-three thousand sixteen 8 weeks?

5. The area of Ava's rectangular backyard = 6. Round 329167 to the nearest hundred.
is 325 square yards. If the length of the
yard is 13 yards, what is the width of
the yard?

/. 43,245 - 368,195 = 8. Write the equation.

In winter, a sporting goods store sells

5 times as many snowboards as it

sells during summer. The store sells

132 snowboards in summer. How many
snowboards does the store sell in winter?

Q. 87 xU47 = 10. The perimeter of Lola’s rectangular
backyard is 76 feet. If the width of the
yard is 25 feet, what is the length of
the yard?

H.OAl 4.0A.2, 4. 0A.3, 4.NBT.2, 4.NBT.3, 4.NBTH, Y.NBT.5, H.NBT.6, .MD.3 X s I kRN e R ooy
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Name

6312 + 8 =

Round 241458 to
the nearest ten.

600,000 + 60,000 =

489 + 8 =

© Carson-Dellosa ¢ CD-104593

List the factors
of 61.

Is this number
prime or composite?

The perimeter

of a kitchen is

528 inches. If the
width of the kitchen
is 120 inches, what
is the length of the
kitchen?

5,206 x 3 =

Iesha needed more
room in her closet.
She decided to take
half of her outfits to
the attic closet. She
had a total of 42
outfits. How many
outfits did she move
to the attic?

38 x 27 =

753,091 + 173,256 =

The area of the top
of a rectangular
table is 323 square
feet. If the length
of the table is

19 feet, what is the
width of the table?

75 % 36 =

Start at 7. Create
a pattern that
multiplies by 7. Stop
when you have

5 numbers.

Sam has 26 yellow
fish, 19 blue fish,
and 43 orange
fish. He has 8 fish
tanks. If he divides
the fish equally
between the tanks,
how many fish are
in each tank?

Write the number
in word form.

841,504

Write the equation.

Grace saw 16 bird
habitats at the
zoo's aviary. The
sign said each
habitat had 12
birds. How many
birds were in the
aviary in all?

Week 19 (p. 1)







Name Week #19 Assessment

1. Travis had a birthday party and invited 2. List the factors of 70.
9 friends. He had 360 baseball cards to
give away as party favors. How many Is this number prime or composite?

baseball cards did each friend receive if
Travis gave away all of his cards?

3. The area of a bookshelf is 216 square 4. 57 x 16 =
inches. If the length of the bookshelf is 36
inches, what is the width of the bookshelf?

5. Start at 158. Create a pattern that adds 8. ' 6. Chloe has $15 to spend on pencils. Each
Stop when you have 5 numbers. box of pencils costs $2. How many boxes
of pencils can Chloe buy? How much
money does Chloe have left after she
buys the pencils?

I, 2931 + 1= 8. The perimeter of a living room is 68 feet.
If the length of the living room is 18 feet,
what is the width of the living room?

9. Write the equation. 10. 485122 + 512137 =

Nell sold 125 packages of cookies at the
bake sale. Each package was tied with
2 ribbons. How many ribbons were used
in all?

H.OA 4.OA.2, 4OA.3, 4. OAMH, 4 OA.5, U.NBTHY, U.NBT.5, U.NBT.6, MD.3 Ber XLk RN Ner o N s
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Name

Lisa earned

$31 each week

for delivering
newspapers.

She delivered
newspapers for

2 weeks. How much
money did Lisa
earn?

880,372 - 751,684 =

Write the equation.

The Iowa candidate
got 6 times as many
votes as the Ohio

candidate got 850
votes. How many
votes did the Iowa
candidate get?

Round 463462 to
the nearest ten
thousand.
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candidate. The Ohio

22 x Yy =

The area of a dog
kennel is 20 square
feet. If the length
of the kennel is

Y feet, what is

the width of the
kennel?

2,995 x 7 =

1350 + 6 =

Britney wants to
buy 2 shirts that
are on sale. Each
shirt is on sale for
$14, including tax.

If Britney has $30,
how much change

will she get after
buying the shirts?

800 + 80 =

The perimeter

of a rectangular
window is

634 inches. If

the length of

the window is

205 inches, what
is the width of the
window?

Write the number
in standard form.

700,000 + 20,000 +

2,000 +100 + 70

30 x 30 =

Write <, >, or = to
make the statement
true.

136,284 O 134,284

8,329 = 9 =

85,911 + 28,347 =

Week 20 (p. 1)







Week #20 Assessment

Name
1. Carrie buys 13 picture frames for $12 2.U3x23 =
each, including tax. If Carrie has $160,
how much change will she get back after
she buys the picture frames?
3. 3400 + 5= 4. Write the equation.
Ursula polled her classmates to see what
their favorite kinds of juice were. Eight
fimes as many students voted for grape
as orange. Forty-three students voted
for orange. How many students voted
for grape?
5. Rosa makes a small flower garden outside = 6. 90 + 9 =

the clubhouse. The area of the garden
is 851 square meters. If the length of the
garden is 23 meters, what is the width of
the garden?

Write <, >, or = to make the statement o
true.

603,897 O 630,897
The perimeter of a picture frame is 10.

24 inches. If the width of the picture
frame is 5 inches, what is the length of
the picture frame?

H.OA.l, 4.OA.2, H.OA.3, U.NBT.1, 4.NBT.2, 4.NBT.5, 4.NBT.6, 4.MD.3

On each table, Tiffany displayed 13 crafts.
If she had 8 tables, how many crafts did
Tiffany display?

2310+ 5 =

CD-104593 = © Carson-Dellosa
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Name

Write <, >, or = to
make the statement
frue.

=0

Start at 4. Create
a pattern that
multiplies each
number by 5. Stop
when you have

5 numbers.

3 .
Decompose e
fwo ways.

A

1+
5
> L
.5 *+75

Write <, >, or = to
make the statement
true.

136,284 O 136,248
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Write the equation.

Emory picked

9 daisies. Ginny
picked 7 times
more daisies than
Emory. How many
daisies did Ginny
pick?

If it takes Tracy

1
m of an hour to

do her homework,

and it takes Trent

% of an hour to do

his homework, how
much total time
does it take Tracy
and Trent to do
their homework?

Henry has

342 marbles in
bags. If 9 marbles
are in each bag,
how many bags
does Henry have?
How many bags
will he have if he
gives 15 bags to his
brother?

-
If the fraction 10

equals 0.6, then %

equals

9,000 + 900 =

Write the number

in word form.

83,602

Abbie bought

82 cases of water
for her restaurant.
Each case haa

24 bottles of water.

How many bottles
of water did Abbie
buy in all?

List the factors
of 38.

Is this number

prime or
composite?

1 6 16
10 * 100 = 100°
then
1,9 L
10 100 100°

Week 21 (p. 1)







Naome

1.

Week #21 Assessment

Write <, >, or = to make the statement

true.

O .
Decompose % In fwo ways.

cao L L L s
" b b6 b6 b6 b6 b6
T B O N -
- b6 6 b

2
If it takes Tracy 77 of an hour to clean a

bathroom, and it takes Tren’r& of an hour

to clean a bathroom, how much total time
does it take Tracy and Trent to clean the

bathrooms?
.4
If the fraction 75 equals OH,
8 10

then 10 equals

Write the equation.

Delinda won 8 tickets. Ivan won 8 times as
many fickets as Delinda. How many tickets
did Ivan win?

H.OA., 4.0A.2, 4.NF.2, 4.NF.3, 4.NF.5, 4.NF.6

> 20 5 L

If'ﬁ =W’Thenﬁ =100

02,2 22 . 4 5

10 ¥100 ~ 100 &N 10 * 100 = 100

10. A moving company is able to move

92 boxes every hour. How many boxes
are they able to move during an 8-hour
workday?

CD-104593 » © Carson-Dellosa
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Nome Week #22_

Round 543,8/3to  |1,152 + 6 = 13,954 + 5,268 = The area of
the nearest ten a rectangle is
thousand. 1176 square

meters. The width
of the rectangle is
21 meters. What is
the length of the

rectangle?

The brown horse Werite <, >, or = to 3 30 |3

i , make the statement @ If +x = ==, s T =
runs 12 of amile. . 10 100 6 6
The black horse 8 E
4 then 10 = 100

runs 12 of a !

mile. How many ® O@@

miles total do the

black and brown

horses run?

681 x 3 = 690 + 4 = 56 x 22 = The perimeter
of a rectangle
is 60 meters. If v
the length of <
the rectangle is =
4 meters, what is
the width of the
rectangle?

U 5 45 5, 26 5 5
Ifﬁ + 100 = 100 Decompose T in If the fraction 100 3§ + ZE =

two ways.
equals 0.26, then

‘. . 7.4
theni5+700 =100 1 LJ L] 3 |33 |
At g =3 100 €9quals

3° 3 3
L
3

_3
"3

1
B.§+
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Name Week #22 Assessment

1. Round 687155 to the nearest ten. 2. 2594 + 15507 =
3. 16 4.
Ifm equals 0.16, 1 1 11 4 8

If30 * 100 = 100° The" 10 * 100 = 100"

hen 10 equal
then 100 Squals

D. — 6.
s 50 q 1 Kayla runs % of a mile, and Jason

IFE=W,ThenE=m. 4 | |
runs 75 of a mile. How many miles total do

Kayla and Jason run?

ST 6. 4
23 + 3€ = Decompose 75 in two ways.
I g N
A 12 12 1 12 12
B ..2... + _g_ — .....L..I.-..
“ 12 12 12
Q. - 10. Write <, >, or = to make the statement
7 + _7_ — frue.
U.NBT.3, 4.NBT.H4, 4.NF.2, 4.NF.3, 4.NF.5, 4.NF.6 CD-104593 ¢ © Carson-Dellosa
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Name

Determine the
13th shape in the

patfern.

Write the number
word as a number.

eighty-nine
thousand nine
hundred eighty

© Carson-Dellosa ¢ CD-104593

List the factors
of 34.

Is this number

prime or
composite?

6 S5 65
1190 *100 =100

o . 2

’rhenﬁ +m=m.

Ellen has 150 CDs.
She wants to
store an equal
number of CDs in
2 containers. How
many CDs should
Ellen put in each
container?

3
Decompose g N

two ways.

L L

=+ + =

A.8 8 8

L

2 3
B. 3+ =8

10 +1=

Write <, >, or = to

make the statement

frue.

iOi
5 10

Round 15454 to the
nearest thousand.

oolw

Forrest orders
5 boxes of
toothbrushes. If he v
has 135 toothbrushes =
altogether, how b
many are in each
box?

55
If the fraction 100

equals 0.55, then

64
100 equals

Write the equation.

Gregory is

2 years old. His
aunt is 12 times his
age. How old is
Gregory’s aunt?

The recipe for

Ryan'’s birthday

cake calls for % ef

a cup of flour

2
and 1 of a cup of

sugar. How many
total cups of flour
and sugar does the
recipe call for?

Week 23 (p. 21)







Naome

1.

Week #23 Assessment

Miguel orders 595 candy bars. They come

in 7 boxes. How many candy bars are in
each box? How many candy bars will he

have left if he gives 3 boxes to his friend?

s, 36 . 8 3 L
10 ¥100 ~ 100’ ""eN 70 * 100 T 100

Write <, >, or = to make the statement

true.
703
12 3

/.
Decompose g In fwo ways.

A.

+

Yo

+

oy oo|w
ol ool

o
2

5
Ryan adds “g" of a cup of applesauce to

his cake recipe. He then measures and

1
adds 7g” of a cup more of applesauce.

How much applesauce has Ryan added
to his cake altogether?

2. List the factors of 16.

4

Is this number prime or composite?

If the fraction

U9

then 00 equals

10.

4.0A.3, H.OA M, U.NF.2, 4.NF.3, 4.NF.5, 4.NF.6

O

_I:Tm

50

EE—

~ 100

then

% equals 0.71,

o L

. ——

10 ~ 100"

CD-104593 = © Carson-Dellosa

Week 23 (p. 2)







Name

16,081 + 36,584 =

Write <, >, or = to 32 + 6 =
make the statement
true.

EOE
10 6

Write the decimal. | The Rossi family

1
39 ate 3 of a cheese

100 pizza und% of a
vegetarian pizza.
How much total
pizza did the Rossi
family eat?

© Carson-Dellosa ¢ CD-104593

3.2
b b6
4 2
12 12

O

Decompose 10N

two ways.

4,876 x 6 =

2
0

2
10

34 x12 =

Write the decimal.

ol
10

The perimeter

of a rectangular
sandbox is 34 feet.
If the length of the
sandbox is 8 feet,
what is the width of
the sandbox?

O
Q
<
i —

Week 24 (p. 1)







Name Week #24 Assessment

1. 21x 3= 2. Write <, >, or = to make the statement

frue.
3 O 4
6 8
3. 1505 +5+= Ll.§+§_
8 8
5. Write the decimal. o} 3
Decompose Tp in fwo ways.
14
100 ~ 1 L 3
ATt Th
B i 4+ — 4+ ; — é
4y 4 4y
7 8.
1 6 |:| 2 oy 1 e
S . 10 10
10 100 100
% 10. 5
L1 70 The Freeman family ate & of a sausage
10 100 3

pizza and 7 of a cheese pizza. How much

total pizza did the Freeman family eat?

U.NBT.5, U.NBT.6, U.NF.2, 4U.NF.3, 4.NF.5, 4.NF.6 CD-104593 ¢ © Carson-Dellosa

Week 24 (p. 2)







Name

The mayor of
Glenville Heights
gave 3 flags to
every person in
his community.
Glenville Heights

has 1,298 people.

How many flags

did the mayor give

away in all?

56,877 - 45,996 =

© Carson-Dellosa ¢ CD-104593

875 +7 =

Write <, >, or = to
make the statement
frue.

98,509 O 98.905

2,005 x5 =

Write <, >, or = to
make the statement

true.
3 O 1
o 2

Jake’s dog weighs
24 pounds. Liv's
dog weighs 42
pounds. Jimmy’s
dog weighs twice
as much as Jake's
and Liv's dogs
combined. How
much does Jimmy’s

dog weigh?
/.
Decompose 0"
two ways.
J L] 5
A0 Y0 T10
Ny
> 70 Y70 T10

3
Ross ate 10 of o

pum;zkin pie. Brady
ate 1o of the same

pie. How much of
the pie did Ross
and Brady eat
altogether?

20,000 + 2,000 =

Write the decimal.

o4

100

Round 320,152 to
the nearest ten.

Week 25 (p. 1)







Naome

1.

Week #25 Assessment

Ansley ate 75 of a bag of popcorn. Erica

Tl
ate 5 of the same bag of popcorn. What

fraction of the bag of popcorn did Ansley
and Erica eat in all?

7 9
3ﬁ+4ﬁ=
4
Decompose g In fwo ways.
L] Ly
ATB *E "8
Ll Ly
> 78 *78 "8
L= .
8§ 8

Write <, >, or = to make the statement

true.
HOF
3 8

10.

4.0A.3, 4.NBT.1, 4.NF.2, 4.NF.3, 4.NF.5, 4.NF.6

L1l s
10 100

7 1 L
10 100 100

Write the decimal.

26

100

. Perry has 135 books. If they are in

3 boxes, how many books are in each
box? How many books will he have left if
he donates 1 box of books to the library?

40,000 + 4,000 =

CD-104593 = © Carson-Dellosa

Week 26 (p. 2)







1 4
= x (g), John eats 75 of o

sandwich. Emma

3
U - eats 75 of the
6 [ o ) same sandwich.

How much more

sandwich did John
eat than Emma?

List the factors Write <, >, or = to

of 90. make the statement
true.

Is this number 1 O 2

prime or composite? 3 O

Each person at a
2 |2, s L

party will eat 3 of 5+ 700 = 100

a pound of turkey,

and 8 people will

be at the party.

How many pounds

of turkey will be

needed?

25,694 + 15,507 = q
Decompose ™ N
fwo ways.

L L s
ol
L L s
St Tm

© Carson-Dellosa ¢ CD-104593

Owen'’s bedroom
has a perimeter

of U6 feet. If the
length of the
bedroom is 11 feet,
what is the width of
the bedroom?

Write <, >, or = to
make the statement
true.

02()os

Write the equation.

Vanessa has

10 stickers. Tara has
6 times as many
stickers as Vanessa.
How many stickers
does Tara have?

Write the decimal.

3

2
53 - 25 =

Week 26 (p. 1)







Naome

3] [ =

If

=le(-§),then-1-6=jx(|:|)-

2
Each student needs T of a cup of play

dough to build a house. How many cups
of play dough are needed for 9 students?

5. Write <, >, or = to make the statement

true.
103
5 3

9

Decompose T In fwo ways.

L] L s
ol Bkl T -
L] L s
5. 5 *75 %
Q. 5
Holly took 3 of a pan of brownies. Ivan

’rookg of a pan of brownies. How much

more of the pan of brownies did Ivan
take than Holly?

o] =

Week #26 Assessment

4. Write <, >, or = to make the statement
true.

10.

—_— =

100

o5 () o

CD-104593 = © Carson-Dellosa

Week 26 (p. 2)







Name

Write the decimal.

68

100

34 x & =

April has 394 paper
clips that she has

to divide equally
between 9 of her
coworkers. How
many paper clips
will each coworker
get from April?
How many paper
clips will be left?

© Carson-Dellosa ¢ CD-104593

Write <, >, or = to
make the statement
true.

046 O 0.32

2 _

10 ~ 100
.
676

1l

1
IFS-LIK(E)),

then

%=jx(%>.

3744 + 8 =

Mrs. Benson must

. L2
give each child =5

of a pizza. She is
feeding 4 children,
How much pizza
does Mrs. Benson
have to make?

Write the number
in expanded form.

eight hundred forty
thousand three

Connor ate & of

an apple. Orlando

1
ate 7y of the
same apple. How

much of the apple
did Connor and

Orlando eat in all?

Write <, >, or = to
make the statement
true.

L2
10 3

1l
Decompose g in

fwo ways.

o| £ o|F

L,
N

3
3

B. +

L]
8
L]
3

(
Week 27 (p. 1)







Week #27 Assessment

10 100
Wl a3
10  ~10
5' 6
Decc:-mposeg
la ian &
. 78 *7g
"y o2
6 b6

Q. Write <, >, or = to make the statement

frue.

4.NF.2, 4.NF.3, 4.NFH4, 4.NF.5, 4.NF.6, U.NF.7

In two ways.

o|o~ oo

EQZ
10 5

. Write <, >, or = to make the statement

frue.

0.95 O 0.99

U
Mr. Lang must give each child g of a cup

of juice. How much juice does Mr. Lang
have to buy for 4 children?

10. Write the decimal.

29

100

CD-104593 = © Carson-Dellosa

Week 27 (p. 2)







Start at 4. Create
a pattern that
multiplies each
number by Y. Stop
when you have

5 numbers.

U
Shelby needs g of

a cup of oatmeal
for each batch
of cookies she

is baking. If she
wants to bake 7

batches of cookies,
how much oatmeal

will she need?

Kevin has

244 marshmallows.
He drops 16. If

9 people share
the remaining
marshmallows, how
many will each
person get?

© Carson-Dellosa ¢ CD-104593

Uri shared % of

nis orange with his
riend and ate the
rest. How much of
the orange did Uri
eat?

Write <, >, or = to
make the statement
frue.

1 Z
()%

L
100

1

D )
ecompose 75 in

two ways.
LI 5
10 " 10 10

A.1O+
L 3

B SR

10 10 10

Round 188,206
to the nearest
thousand.

Write <, >, or = to
make the statement
true.

0.76 O 0.67

Write the equation.

Colby has 8 gems.
Evan has 3 times
as many gems as
Colby. How many
gems does Evan
have?

Write the decimal.

Week 28 (p. 1)







Naome

1.

Week #28 Assessment

Write <, >, or = to make the statement

true.
201
12 2

Write <, >, or = to make the statement

True.
089(") 026

/
Wallace needs 35 of a cup of pecans to

make one pecan pie. If Wallace wants to
make 4 pecan pies, how many cups of
pecans will he need?

4.NF.2, 4.NF.3, 4.NFM4, 4.NF.6, U.NF.7

4. 4
Decompose pre in two ways.

1y
ATE TR TG
B .
B. 5 *75 %

b.

5 1
3§ -28

8. 4

Nicole washed 7 of a bag of potatoes.
She left the rest in a basket outside.
What amount of potatoes did Nicole
leave outside?

10. Write the decimal.

36 _
100

CD-104593 = © Carson-Dellosa

Week 28 (p. 2)







N — Week #29

Sixty-five campers | 2 392421 + 30,530 =
arrive. Nine go Kim needs " of o IFi = x (i),
home early. If gallon of water for 0 0
8 people sleep in | her balloon. Seth then
1e’fi$-£;?";‘;:ﬂ”}’ needs% of a gallon % = j " ([ )
e T oy of water for his E
P ‘ balloon. How much
more water does
Seth need than
Kim?
Write <, >, or =to  Write the decimal. q U
make the statement 0-1° 3. J
true. 28 10 ~ 100
100
Ly
= 10
Start at 200. | Round 139,664 to 5
Create a paftern 6 x 0" the nearest ten. Vince needed g of
that multiplies each a package of
number by 2. Stop marbles for each
when you have gift bag. If he
5 numbers. had to make 5
gift bags, how
many packages of
marbles did Vince
need?
Write <, >, or = to
Decompose % in _6_ N _l__|._ B _j_ 12 % - 10 % = make the statement
two ways. 10 ~ 100 ~ 100 frue.

0.3 O 0.30

A. -+

i = S
8 © 8 10

8
B. T8 *7T8 =10

© Carson-Dellosa ¢ CD-104593

Week 29 (p. 1)







Naome

1.

Week #29 Assessment

Write <, >, or = to make the statement

true.
Ok
2 8

L .
Decompose 77 In fwo ways.

1 /
Wyatt ate 75 of a banana. Shane ate 7

of a banana. How much more banana did

Shane eat than Wyatt?

Write <, >, or = to make the statement

0.6 O 0.60

frue.

10. —

5 2
8§ 8
4,
7 .3
&0 210 ©
b.

Nathan needs& of a tablespoon of

vanilla to make one milk shake. If Nathan
wants to make 8 milk shakes, how much
vanilla will he need?

CD-104593 = © Carson-Dellosa

Week 29 (p. 2)







Name

Write <, >, or = to Write the decimal.
make the statement

true. 73

ZOL
3 2

100

1176 + 2 = -
Zane had 5 of a

bottle of water left.

Ana had % of a

bottle of water left.

How much more
water did Zane
have than Ana?

11
Decompose 75 in

B WO ways. be | i=£
> 0 100 E
O
0
N == _ 1
2 T2 TP
11
B. T *T2 1

Round 324145
to the nearest

U
LI- X g —
nundred thousand.

© Carson-Dellosa ¢ CD-104593

The candy jar

has 251 pieces of
candy. Roxanne
adds 31 pieces of
candy to it. If the
candy is divided
equally between

6 campers, how
many pieces will
each camper get?

U
If £ = 4 x (—)

2 =[] E).

Write <, >, or = to
make the statement
true.

Start at 820.
Create a pattern
that adds 30 to
each number. Stop
when you have

5 numbers.

2
Bonnie uses 7~ " of

a cup of sugar
in each cupcake.
If she is making
9 cupcakes, how
much sugar will
Bonnie need?

Week 30 (p. 1)







Naome

Week #30 Assessment

oo| oo
ool ro
I

-

4 1 9
If £ =Ux(g) theng =[]

5. Write <, >, or = to make the statement

true.
0.38 O 0.28

3 .
Decompose 75 in two ways.

4.NF.2, 4.NF.3, 4.NFH, 4.NF.6, U.NF.7

10.

Garrett is using Tj of a tablespoon of
barbecue sauce on each piece of
chicken. If Garrett is making 8 pieces of
chicken, how much barbecue sauce will
he need?

Write the decimal.

95

100

4 1
Blake ate g of his potpie. Claire ate g of

her potpie. How much more potpie did
Blake eat than Claire?

Write <, >, or = to make the statement

frue.
104
2 8

CD-104593 = © Carson-Dellosa

Week 30 (p. 2)







Name

m cm
1 100
2
3
m
5
6
7
3,766 +7 =

Use the line plot

below.

What is the

difference in
length between
the longest and the

shortest books?

Complete the table. Draw an example

of parallel lines.

What is the value
of the missing
angle?

A

HS'

Use the line plot
below.

How many books
measured 6
inches?

Lengths of Books on a Shelf in Inches

X X X

O —+— X X X X

© Carson-Dellosa ¢ CD-104593

T s
o

O~ +— X X

0"—-:-::-::-::-:::-:
N =
~J &/ X X X X X

James spends

HS minutes taking
caring of Mr. Silva’s
dog. Then, he spends
25 minutes folding
laundry. Next, he
spends 20 minutes
cleaning his room.
How long does it
take James to do dll
of his chores?

Write the number
in standard form.

two hundred fifty-
eight thousand six
hundred eight

9876 x 8 =

Circle the triangle
that shows a line of
symmeiry.

809,876 - 456,987 =

Color the right
triangles.

A
ANAN

Measure the angle.

A

William, Jan, and
Greg have a tfotal
of $26. Greg has
the most money.
Jan has twice as
much money as
William. Greg has
$11. How much
money does Jan
have?

Week 31 (p. 1)







Name Week #31 Assessment

1. 100 meters = centimeters 2. Demetri wakes up at 9:15. It takes him

35 minutes to fold Y4 loads of laundry,

35 minutes to bathe the dog, 45 minutes

to bake brownies, and 1 hour to mow the
awn. After he finishes all of his chores,
ne sits down to rest. What time does
Demetri rest?

3. Use the line plot below. 4. Use the line plot below.
What is the difference in length between How many books measured 9 inches?
the longest and the shortest book?

Lengths of Books on a Shelf in Inches
X

X X
X X X
A ) | i
8 8% 9 %
5. Measure the angle. 6. What is the value of the missing angle?
>
/. What is this an example of? 8. Draw a right triangle.
- >
-€ >
9. Draw the lines of symmetry on the 10. 786,987 - 43,786 =

airplane.

4L.NBTY, 4.MD.{, 4.MD.2, 4. MDM, 4.MD.6, 4.MD.7, 4.G1, 4.G.2, 4.C.3 e X LT oTer e

Week 31 (p. 2)








Name

Write the number
word as a number.

)| three hundred fifty
=8 thousand seven

Measure the angle.

What is the value
of the missing
angle?

© Carson-Dellosa ¢ CD-104593

Color the shapes
that have parallel
lines.

/\

Madison packs

168 comic books
into 8 different
boxes. She packs
an equal number
of comic books

in each box. How
many comic books
does Madison pack
info each box?

Circle the figure
that shows a line of
symmetry.

B

v
-

|

¥ i

=

Start at Wl. Create
a pattern that
multiplies each
number by 3. Stop
when you have

5 numbers.

Complete the table. 68,987 - 56,987 =

km _ m
1 1,000
2
3
U
5
6
7
7,648 = 8 = What kind of lines
are shown?
A
< >
\J

Jeremy fravels 16 ' Round 532453
kilometers total to  to the nearest

and from school hundred thousand.
every day. How

many kilometers

does Jeremy travel

to and from school

in 20 days?

Week 32 (p. 1)







Name Week #32 Assessment

1. Scott’s Pizzeria has 708 chairs. Four chairs = 2. 15 kilometers = meters
are at each table. How many tables are
in the restaurant?

3. Adam runs 135 kilometers over a 9-day 4. Round 456,755 to the nearest hundred
period. It takes Adam about 10 minutes to thousand.
run each kilometer. If Adam ran an equal
number of kilometers each day, how
many kilometers did Adam run each day?
How much time did Adam spend running?

o. Start at 1,278. Create a pattern that 6. Measure the angle.
subtracts 150 from each number. Stop
when you have 5 numbers.

/. What is the value of the missing angle? 8. Draw perpendicular lines.

9. Draw two different figures that have 10. Draw the lines of symmetry on the shoe.
parallel lines.

Yo WAL To N X\ LY RELAVDARAY DYV AT DY RATDNA XA ICYRICKIN ~D_10u593 « © Carson-Dellosa

Week 32 (p. 2)








Name

Measure the angle.

Decompose % in
fwo ways.
s j r .
ATE *T8 T8
1 [ s
5 T8 tT8 T8

What is the value
of the missing
angle?

7

40 + 4 =

92

Complete the table. Draw the lines of
symmetry on the

9
1000 flower.

N[o|o|E|lw[No[—= 8

What kind of angle
is shown?

o 9 j

-——+-————-————

10 100 ~ 100

A

© Carson-Dellosa ¢ CD-104593

Use the line plot Use the line plot

below. below.
How many pieces  What is the
2 difference in

of string are T
inches?

length between
the longest and the
shortest pieces of
string.

Length of String in Inches

X

X X

X X X
’f :

3 -
IRTERTERTER

| |
3 34 3% 34

Anna babysits y :
4 Saturdays in a Ifg = 4 x ('g), then

row. Each Saturday,

she earns $10.75. 4 j E
How much money 22 g ([ )
does Anna earn

in all 4 Saturdays

combined?

N

Write the decimal. = Color the

shapes that have
20 _ perpendicular or
100 parallel sides.

/\
O

Week 33 (p. 1)








Name Week #33 Assessment

1. Measure the angle. 2. What is the value of the missing angle?

A

?
62°
9q5°
- J >
3. 12 kilograms = grams 4. Samantha went out to eat with her

friends on Monday, Tuesday, Wednesday,
and Friday. She spent $5.65 on Monday,
$7.50 on Tuesday, $9.75 on Wednesday,
and $5.95 on Friday. How much

more money did Samantha spend on
Wednesday and Friday than on Monday
and Tuesday?

5. Use the line plot below. 6. Use the line plot below.
How many pieces of string were What is the length of the shortest piece
measured? of string? What is the length of the

longest piece of string?
Lengths of String in Inches

2 2 X X
=T X X X

R

ov  o5F  O% 6

£4
&
<
01

1l

/. Draw a right angle. 8. Color the shapes that have perpendicular
or parallel sides.

‘Il'l
III
1Il

\
)

i

9. Circle the figure that shows a line of 10

" Decompose 1.1 in fwo ways.
symmeiry.

12

8

]
R .
0,

A.

LJ_38
2 12

B.

4.NF.3, 4.MD., 4.MD.2, 4 MDHY, 4.MD.5, 4.MD.6, 4.MD.7, .G\, 4.G.2, 4.C.3 R ILL RN RO o N[

Week 33 (p. 2)








Name

Spencer saves
$2458. He wants
1 true.

to invest 7 of the
money and put the
or2() o7

rest in his savings
account. How much
money will Spencer

invest?
8 Draw an acute
7 x ﬁ — C"'Ig'ﬁ.

Round 65,567 to
the nearest ten
thousand.

Draw the lines of
symmetry on the

v SCISSOrsS.

>
o
o

Start at 901. Create | What is the

a pattern that measure of the
adds 112 to each complete angle?
number. Stop

when you have 5

numbers. Qb°

42

Write <, >, or = to
make the statement

Measure the angle.

Nikki's Ttalian

1
Restaurant put ¢

of a gallon of oil

in one batch of
salad dressing. How
many gallons of oil
would be used in

4 batches of salad
dressing?

Complete the table.
lbs. | oz
1 16
2
3
T
5
6
7

© Carson-Dellosa ¢ CD-104593

23456 - 19,001 =

Write the equation.

Maria is 8 years
old. Her mom is

4 times as old as
Maria is. How old is
Maria’s mom?

Color the shapes
that have obtuse
angles.

1764 = 9 =

Lamar’s milk shake

. 3
recipe calls for 0

of a scoop of ice

cream. T%ny’s recipe
calls for 10 of a

scoop of ice cream.
How much more ice
cream does Tony's
milk shake call for
than Lamar’s?

Week 34 (p. 1)







Name Week #34 Assessment

1. Write <, >, or = fo make the statement 2. Write the equation.
TEue,
Luke has 7 marbles. His older brother has
0.29 O 0.39 / times as many marbles as Luke. How
many marbles does his older brother
have?
3. 3 4. 21 pounds = ounces
U x E =

5. Danielle put $582 in the bank. Her brother 6. Measure the angle.
put 3 times as much money in the bank.

Her sister put 3 as much money in
the bank. How much money combined
did Danielle’s brother and sister put in

the bank? >
/. What is the measure of the complete 8. What kind of angle is shown?
angle?
52°
63°
)" >

9. Color the shapes that have acute angles.  10. Draw the lines of symmetry on the

snowflake.

X WL N RUR VALY DARUAY D RLAY DX AT DX LAY DY XCAR XcVALICK I —D_104593 ¢ © Carson-Dellosa

Week 34 (p. 2)








Name

What kind of angle ' Draw the lines of
is shown? symmetry on the
iree:

Round 234,675 to

What is the
measure of the
complete angle?

store and 5 from
10° her mom. Zoe's
1 teacher gave her
» 18 marbles. Zoe
gave 12 marbles to
5 her friend Xia. How

Complete the table.. 1985 + 8 =

the nearest ten. ] ]
1 1,000
2
3
1l
5
6
74

Measure the angle.  Write the number
in word form.

560,654

1,296 - 456 = Draw a
parallelogram with
exactly one right

angle.

© Carson-Dellosa ¢ CD-104593

Use the line plot

below. below.
How many sticks What is the
4 difference between

measure 8§ inches?

Loe was collecting
marbles. She got 10
marbles from the

many marbles does
/oe have left?

Jasper needs
180 inches of string
for his project. How

many yards should
he buy?

Use the line plot

the longest stick
measured and
the shortest stick
measured?

Lengths of Sticks in Inches

X
X X X X
E—1 3 I
8 8% 8% 8% 8% 8% 8 & A9

Week 35 (p. 1)







Name Week #35 Assessment

1.

Draw an obtuse angle. 2. Draw an isosceles right triangle.

Draw the lines of symmetry on the leadf. 4. Ty bought some stamps at the post office.
Some of the stamps had flower designs,
some had books, and some had flags. Ty
bought 19 flower stamps. He bought 12
more book stamps than flower stamps and
20 fewer flag stamps than book stamps.
How many stamps did Ty buy in all?

30 liters = milliliters 6. The toy racetrack is 60 inches long. How
many feet is the toy racetrack?

Use the line plot below. 8. Use the line plot below.

2
How many sticks measured Cig inches? How many sticks measured q% inches and

7
Clg inches?

Lengths of Sticks in Inches

X
X
X X

| =

% % % D0

0
ﬂ;E — 3 M 3 M M
7.

oobo

0

ok

.

ol

Measure the angle. 10. What is the measure of the complete
angle? A

4o
97°

4.OA.3, UMDY, 4MD.2, 4.MDH, 4.MD.5, YMD.6, 4MD.7, 4.G 1, 4.G.3 CD-104593 ¢ © Carson-Dellosa

Week 35 (p. 2)








K Week #36

Draw a straight Which word
= angle. describes the
triangle?

A. equilateral
B. isosceles
C. scalene

Complete the table.

Measure the angle. ' Virginia sold pizzas 1 '

yesterday. Of Thze If g =4 x(g) - .
pizzas she sold, 5 then 1 60
of them were large, = g 7,
) 6 =1 =p 3
and 5 of them
were extra large. T 4
What fraction of S
the pizzas sold 6
were large or exira 7
large?
Ava and Becca What is the Draw the lines of
are collecting measure of the symmetry on the 1 60
canned goods. complete angle? vase. 10 ~ 100
Ava collected % of
a box of canned
goods. If Becca
collected 5 times as of’
much as Ava, how
much did Becca 12°
collect? >
Is every square a = Write the decimal. Write <, >, or =to  Braden needs
quadrilateral? make the statement 16 quarts of punch
56 true. for a party. How
Why or why not? 100 many gallons of

punch does Braden

4 1
 — L] ?
0 O 3 need to buy”

© Carson-Dellosa ¢ CD-104593

Week 36 (p. 1)







Name Week #36 Assessment

1. Which word describes the triangle? 2. Is every trapezoid a parallelogram?
Why or why not?

A. equilateral

B. isosceles
C. scalene
3. Draw the lines of symmetry on the 4.
butterf] $2p im
4 § "8~
. 4 1 4 | 6. 12 hours = minutes
If £ =4x(E). theng = |x (=
/. Melissa needs 3 gallons of soup for her 8. Measure the angle.
party. The restaurant packages the soup
in quart bottles. How many bottles does
she have to pick up?
<
9. What is the measure of the complete 10. What kind of angle is shown?

angle?

1k < £ >

38°

>

4.NF.3, 4.NF4, 4.MD.1, 4.MD.2, 4.MD.5, 4.MD.6, 4.MD.7, 4.G.2, 4.C.3 Heh Rt RoRer )

Week 36 (p. 2)








Name

What is the value
of the missing
angle?

o ro
+
a1 No
[

How many of each
angle is in this
shape?

acute

obtuse

right

Determine the
30th figure in the
pattern.

X 13

© Carson-Dellosa ¢ CD-104593

89°
127\
>

List the factors
of 87.

Is this number
prime or composite?

Mrs. Lopez wanted
to give 20 students
calculators. Each
calculator weighed
16 ounces. If

Mrs. Lopez gave
each student a
calculator, how
many pounds did
the calculators
weigh in all?

N7
2712

min. secC.
1 60
2
3
U
s,
6
7
8

Use the line plot Use the line plot
below. below.

How many total H :
Oow many fimes
cups of sugar 1

were used to make @ Wwas 67 cups used
cookies? in a recipe?

Cups of Sugar Used in Cookies

Measure the angle.  Draw the lines of
symmetry on the
hockey stick.

4562 +7 = Name this triangle
(both names).

Week 37 (p. 1)







Name Week #37 Assessment

1. Measure the angle. 2. What is the value of the missing angle?

A

?
b/’
82°
" 4 >
3. 4. Name this triangle (both names).

How many of each angle is in this shape?
acute

obtuse
right

5. Draw the lines of symmetry on the boat. = 6.

oo~
oo| W
[

<

/. 45 minutes = seconds 8. Two boxes of gold weigh 4 pounds
8 ounces. Each pound is worth $400. How
much are the boxes of gold worth?

9. Use the line plot below. 10. Use the line plot below.
How many total cups of flour were used What is the difference between the
to make cakes? largest amount of flour used and the

smallest amount of flour used?
Cups of Flour Used in Cakes
X X X X X X X

| I | | | II

8 6 9 Y97 10 102 1]

4.NF.3, 4.MD., 4.MD.2, 4.MD Y, 4.MD.6, 4.MD.7, 4.G.1, 4.G.2, 4.G.3 NN RN R s

Week 37 (p. 2)








Name

Which word
describes the
triangle?

A. equilateral
B. isosceles
C. scalene

Write the number
in word form.

144,657

Circle the
pentagon with
parallel and
perpendicular
sides.

(e

D o
ecompose 75 in

fwo ways.
_ 0o
A0 Y10 TT10
B I I
5 70 Y710 T 10
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4345 x 6 =

Measure the angle.

Write <, >, or = 1o
make the statement
true.

678,987 O 675,897

Gary ran 14 yards
on Tuesday and

34 yards on
Wednesday. On
Thursday, he

ran 9 yards less
than he ran on
Wednesday. How
many feet did Gary
run altogether?

What is the value
of the missing
angle?

/8,765 - 76,898 =

12 x47 = Draw the lines of

symmetry on the
hat.

)

-

Write <, >, or = to
make the statement
true.

iOi
8 4

4893 + 3 =

U kilometers =
centimeters

Week 38 (p. 1)







Week #38 Assessment

Name
1. What is the value of the missing angle? 2. Which word describes the triangle?
D tc £DAB= 102°
?
A. ilateral
_% . equilatera
. 5 B. isosceles
A C. scalene
3. How many pairs of parallel sides does this | 4. Draw the lines of symmetry.

figure have?

P
<"

2U56 x 7 = b.
4332 +9 = o
Erin ran 2 kilometers. Donna ran 10.

3 kilometers. Reba ran 3 times as
many kilometers as Donna. How many
meters did Erin, Donna, and Reba run
altogether?

Y.NBT.2, 4.NBT.5, 4.NBT.6, 4.MD.1, 4.MD.2, 4.MD.6, 4MD.7, 4.G 1, 4.G.2, 4.G.3

Write the number in word form.
234,000
8 kilometers = centimeters

Measure the angle.

CD-104593 = © Carson-Dellosa

Week 38 (p. 2)







Name

3 hours =

seconds

Draw the lines of
symmeiry.

Use the line plot
below.

What is the
difference
between the
longest distance
run and the
shortest distance
run?

Miles Run

X
X X

Mr. Ahmed has

5 x % = 9 water heaters
for his apartment
buildings. Each
heater weighs
32 kilograms. How
many grams do all
9 water heaters
weigh together?

What is the

measure of the b J

complete angle? 10 ~ 100

G 79°

Use the line plot
below. 8 8

If you added all
of the distances
together, what
would be the total
distance run?

Jordan drew a
shape. The shape
had 3 unequal
angles. What shape
could Jordan have
drawn?

X
I — —
8 848484 994 9% 9 10
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Write the decimal.

85

100

Which word

describes the
triangle?

AN

A. right
B. acute
C. obtuse

Measure the angle.

50,000 + 5,000 =

Week 39 (p. 2)







Name Week #39 Assessment

1.

Use the line plot below. 2. Use the line plot below.
What is the difference between the If you added dll of the distances together,
longest distance run and the shortest what would be the total distance run?

distance run?
Kilometers Run

X
X X X
e Y N B S B B B B p e —
B U U5 U O 54 55 57 6 64 64 64 /
Measure the angle. 4. What is the measure of the complete
angle?
< 24 >
Which word describes the triangle? 6. Norris cut a shape out of a sheet of
paper. The shape had Y sides, with
A. right opposite sides parallel. What shape could
B acute Norris have?
C. obtuse A. hexagon
B. parallelogram
C. equilateral triangle
Draw the lines of symmetry. 8. -

8 x 10

9 hours = seconds 10. A serving of chicken has 18 grams of
protein. The same size serving of fish has
25 grams of protein. How many more
grams of protein does the fish have? How

many more grams of protein are needed
in the fish to equal a kilogram of protein?

4.NF4, 4.MD.1, 4.MD.2, 4.MDM, 4.MD.6, 4.MD.7, 4.G.1, 4.C.2, H.C.3 Feh XL RTo I NN

Week 39 (p. 2)








